
This page was exported from - Lead2pass New Updated Exam Questions 
Export date: Mon Dec 23 18:31:38 2024 / +0000  GMT

[Full Version 100% Free Lead2pass 500-452 New Questions Download (1-10)

	2017 February Cisco Official New Released 500-452 Dumps in Lead2pass.com! 100% Free Download! 100% Pass Guaranteed! 

Lead2pass is now offering Lead2pass 500-452 dumps PDF and Test Engine with 100% passing guarantee. Buy Lead2pass 500-452

PDF and pass your exam easily. If you want real exam simulation then buy test engine and install on your pc for preparation. 

Following questions and answers are all new published by Cisco Official Exam Center: http://www.lead2pass.com/500-452.html 

QUESTION 1 Cisco NCE is a component of Cisco ISR G2. Which other product is an example of an NCE? A.    Cisco multiservice

blade B.    Cisco UCS C-Series server C.    Cisco Services Ready Engine D.    Cisco UCS E-Series serverAnswer: D QUESTION 2

The lean branch office relies on the WAN to provide a majority of its application services. However, essential infrastructure services

can be hosted locally. What is one example of an infrastructure service for a hospital or medical office? A.    YouTube B.    record

archiving system C.    remote administration D.    electronic medical records Answer: D QUESTION 3 What is one example of a

supported hypervisor on the network compute engine? A.    Red Hat KVM B.    VMware vSphere Hypervisor 5.1 C.    CentOS qemu

D.    VMware Workstation 10.0 Answer: B QUESTION 4 Which percentage of companies plan to migrate their WAN to the

Internet? A.    0.25 B.    0.46 C.    0.75 D.    1.00 Answer: B QUESTION 5 Which two characteristics comprise a hybrid WAN

design? (Choose two.) A.    L2TP VPN B.    premium transport (MPLS) C.    dial-up modem D.    best-effort transport (Internet) E.   

static routing protocol Answer: BD QUESTION 6 Which two statements about port ACLs are true? (Choose two.) A.    Port ACLs

are supported on physical interfaces and are configured on a Layer 2 interface on a switch. B.    Port ALCs support both outbound

and inbound traffic filtering. C.    When it is applied to trunk ports, the port ACL filters only native VLAN traffic. D.    When it is

applied to a port with voice VLAN, the port ACL filters both voice and data VLAN traffic. Answer: AD QUESTION 7 The use of

which option is a major difference between DMVPN and Group Encrypted Transport VPN? A.    switching B.    MPBGP C.   

tunnels D.    RIPv3 Answer: C QUESTION 8 Which technology is used to separate internal routing and the external default routing

for spoke-to- spoke tunnel setup? A.    FVRF B.    EIGRP C.    IS-IS D.    BGP Answer: A QUESTION 9 What is the purpose of

intelligent path control? A.    to efficiently distribute traffic across multiple types of links, based on policy B.    to distribute traffic

by using an active/passive mechanism C.    to pick the best single link from a group of links to distribute all traffic D.    to use a

round-robin methodology to distribute traffic across an active/active set of links Answer: A QUESTION 10 Which option can

enhance traditional IP routing so that you can improve application performance on the WAN while increasing bandwidth efficiency?

A.    Cisco PfR B.    Cisco NCE C.    NBAR D.    OLSR Answer: A  Now we are one step ahead in providing updated real exam

dumps for SK0-004We provide 100% 500-452 exam passing guarantee as we will provide you same questions of 500-452 exam

with their answers. Our Cisco 500-452 new questions are verified by experts.  500-452 new questions on Google Drive:

https://drive.google.com/open?id=0B3Syig5i8gpDUTNIelBwMlRGdFU 2017 Cisco 500-452 exam dumps (All 90 Q&As) from

Lead2pass:  http://www.lead2pass.com/500-452.html [100% Exam Pass Guaranteed]

        Output as PDF file has been powered by [ Universal Post Manager ] plugin from www.ProfProjects.com |  Page 1/1  |

http://www.getfreevce.com/?p=3931
http://www.lead2pass.com/500-452.html
http://www.lead2pass.com/500-452.html
http://www.profprojects.com/?page=upm

